BxX—TK1 (A48H#H)

THM7E3A%

ALSATERKE (REEAE) KEHBRIERBREE GHER)

KR 8:30

KEBEHEBHER (BELIEKSE 2KkF (BEK )
B Xz | [iE | KB | & E pH |ZILAY| BE | %% |&LY| &% ESZ2N K- I
E BB A Hy
°C C E mg/ | mg/| | mg/l | mg/l mg/| mg/|

1 g 6.5 10.8 5.1 7.65

2 g 9.5 12.0 8.2 1.44

3 58] 12.0 12.1 4.5 7.65 8.2 73.1 135 9.3 0.09 <0.02

4 ) 5.0 9.1 115.0 7.54

5 58] 7.0 1.7 26.8 7.65

6 ) 10.5 8.5 16.0 1.70

i g 4.0 9.1 16.6 7.58

8 ) 4.0 9.8 6.1 7.58

9 ) 5.0 8.5 4.7 1.1

10 g 6.5 10.8 4.2 1.67

" = 8.5 1.1 14.1 1.74

12 = 9.0 11.5 5.0 7.65

13 = 11.0 12.2 10.7 1.1

14 g 10.0 13.1 5.3 7. 64

15 = 7.0 13.0 5.4 1.70

16 58] 7.0 9.5 5.2 1.72

17 = 5.0 9.3 12.4 1.70 48.3 64.0 142 6.8 0.40 <0.02

18 g 6.5 10.1 7.9 1.75

19 = 4.5 10.5 6.5 7.63

20 g 7.0 9.0 11.9 1.72

21 g 9.0 10.8 13.1 1.75

22 f5 5.5 12.5 8.0 1.75

23 g 7.0 13.5 5.1 1.76

24 g 10.0 14.0 5.3 1.75

25 g 10.5 13.5 5.0 1.78

26 g 13.5 14.3 6.1 7.81

27 g 10.0 14.4 6.1 7.69

28 58] 16.0 15.2 5.4 1.75

29 58] 12.5 16.2 13.6 1.75

30 = 5.0 10.9 17.1 1.1

31 g 9.0 11.9 7.6 7.61
Ty 8.2 1.4 12.4 7.69 53.3 68.5 139 8.1 0.25 <0.02
=xE 16.0 16.2 115.0 7.81 58.2 73.1 142 9.3 0.40 <0.02
=K 4.0 1.7 4.2 1.44 48.3 64.0 135 6.8 0.09 <0.02




BxX—TK1 (A48H#H)

THM7E3A%

ASLSATERKE (RELAZ) KEHRERREE FER)

KR 8:30

KESABHER (BLIHEKE &Kt (8K )
H PN 3 SEB | KE | A E pH |7ZILAY| BE | %% |Eith| &% 8% H =
B HBEM| (4> Hy
C °C E mg/ | mg/l | mg/l | mg/1 | mg/l | mg/l
1 g 6.5 10.7 1.3 1.42
2 g 9.5 11.5 1.7 7. 40
3 58] 12.0 12.1 1.3 71.51 51.7 70.9 133 9.5 0.06 <0.02
4 = 5.0 11.2 1.7 1.32
5 58] 7.0 8.5 1.3 1.25
6 = 10.5 8.0 1.2 7.30
i g 4.0 8.4 1.1 1.22
8 = 4.0 9.0 1.0 1. 47
9 = 5.0 8.4 1.1 7.51
10 g 6.5 8.8 0.9 7.48
1 = 8.5 1.1 0.9 7.56
12 = 9.0 11.6 0.7 7.52
13 = 11.0 12.2 1.0 7.58
14 g 10.0 12.5 1.2 7.54
15 = 7.0 12.7 1.3 7.62
16 58] 7.0 10.9 1.3 7.55
17 = 5.0 10.3 1.8 7.48 46.6 66. 2 130 8.3 0.06 <0.02
18 g 6.5 10.6 0.9 1. 47
19 = 4.5 10.5 1.0 7.43
20 g 7.0 10.0 1.4 1.57
21 g 9.0 9.7 1.0 7.60
22 fE 5.5 11.2 1.0 7.59
23 g 7.0 12.0 0.9 7.69
24 g 10.0 12.5 0.9 7.63
25 g 10.5 13.7 1.1 7.60
26 g 13.5 13.8 1.0 7.63
27 g 10.0 14.9 1.3 7.63
28 58] 16.0 15.0 1.1 7.61
29 58] 12.5 16.0 1.2 7.60
30 = 5.0 13.7 1.3 7.52
31 g 9.0 11.6 1.1 7.50
Ty 8.2 1.4 1.2 71.51 491 68.5 132 8.9 0.06 <0.02
=e 16.0 16.0 1.8 7.69 51.7 70.9 133 9.5 0.06 <0.02
=K 4.0 8.0 0.7 1.22 46.6 66. 2 130 8.3 0.06 <0.02




